{1#] [Eex] [#E] [E£] (K]
1
2 9% 3% xF 68 TEE /M AR 39.09 33.90
SEHA BEMH ' TF 68 8m /b2 44% 39.09 29.14
4358 BHE xT TER 9% I3 445 35.09 27.50
5 /g F|zE TF A 8 M3 445 39.09 27.50
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[148] (s8] [®E] [HE#] [X£]
1
2l ERIRHR #F 13k sE /M 4%k 35.09 24.80
3 fnEE EKX E+ 13k 5% h 4%% 35.09 25.30
4NE B ZE 1288 T M 24.80
5 #HE EF 11 108 /M A5 27.09 18.10
6 K i BF 118k 6E pial 4% 35.09 25.30
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(2481 (Zex] [BE] [E#FE] [K=]
1
2 HFR BX ZF 108k 108 /M4 AE% 27.09 19.80
3 WF fEE T ofk 588 % 27.80
4 ED RE B 8%k 8@ /M2 455 31.09 21.90
5 mE EA BF T 8EE /3 L 31.08 18.60
6 &HF WE TF A4k 8 /N2 AR 31.09 23.52
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[3%8] [gR&x] [HE] [FEE] [X£]
1
288 EX BF 3 8 /M2 18.60
3| Bl By 3R 1088 /DS 48k 27.09 17.68
4 g BEEF TF 28 8 h2 43k 31.09 23.52
5B EEE BF #E  sE /M 4%k 35.09 21.70
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[1#8] (Egx] [(BE] [EHE] [K=]
1
LAY - TF O O0fk TmE /2 24.18
3 ARl w3k L 8tk T M e 35.09 27.30
4 Bl ZEzB ZF 8%k  TE /N2 4R 35.00 24.18
5 ik #E3R BF 4% 8sm /2 4% 35.09 23.40
6 EE BE BF HE  o9m /I3 4% 31.09 21.73
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